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Abstract

In the mathematical world there was a crawl! of analytical connections walking
around and | noticed the fact that the mathematics world was dominated by the
monster.

You should wake up quickly escape from the brainwashing analysis connection
(monster).

| notice this, | will dare to write for justice.

| have tried to prove Riemann hypothesis, | noticed this.
That is, Riemann hypohesis is fundamentally completely mistake.



introduction

\sum_<{n=13}"{960}\frac{1}{n"{2}}=1.6438929425279.....
\sum_<{n=13}"{3000}\frac{1}{n"~{2}}=1.644600789064275819....
\sum_<{n=13}"{6000}\frac{1}{n"{2}}=1.64476741406967705.....
\sum_<{n=13}"{19000}\frac{1}{n"{2}}=1.64488143665429632....
\sum_<{n=1}Minfty \frac{1}{n"{2}}= 1.644934066848226......
\sum_<{n=1}"{960}\frac{1}{n"{3}}=1.202056361189718.....
\sum_<{n=1}M\infty \frac{1}{n"{3}}=1.2020569031595942.....
\sum_<{n=1}"{100}\frac{1}{n"{4}}=1.082322905344473.....
\sum_<{n=1}Minfty\frac{1}{n"{4}}=1.08232290534.....
\sum_<{n=1}Minfty \frac{1}{n~{4}}=n"4/90=1.0823232....
\sum_<{n=1}Minfty \frac{1}{n~{5}}=((5)=1.036927755....

Discussion

sum_<{n=1}"{160}\frac{1}{n”"s} ,{s=0.5+i14.1347 }=0.382555 -
0.810275 i sum_{n=1}"{960}}\frac{1}{n"s} ,{s=0.5+i14.1347
}=0.615275 - 2.10313 i
sum_{n=1}"{1960}\frac{1}{n"{0.5+i14.1347}}=1.14878171095715..
.+ 2.9121792... i
sum_{n=1}"{3000}\frac{1}{n"{0.5+i14.1347}}=0.4174005668... +
3.85034736007... i
sum_<{n=1}"{5000}\frac{1}{n"{0.5+i14.1347}}=4.322461... +
2.51272900221396... i

sum_(n=1)"9000 1/n~(0.5 + i 14.1347)=0.48920272485704 -
6.689881566383131 i

sum_(n=1)79160 1/n~( 0.5+i14.1347 )= -1.185309 - 6.662485 i
sum_<{n=1}7{9960}\frac{1}{n"{0.5+i14.1347 }}=-6.899473372 -
1.4798296377 i

sum_(n=1)79960 1/n~(0.5 + i 14.134725142)=-6.8998 - 1.4782107 i
sum_(n=1)79960 1/n~(0.5 + i 14.1347251417346937904)=-6.8998 -
1.47821 i

sum_(n=1)"19000 1/n~(0.5 + i 14.1347)=8.5184 + 4.73502121617 i
sum_(n=1)719160 1/n~( 0.5+i14.1347 )= 9.05644139 + 3.710020 i



sum_(n=1)219960 1/n~(0.5 + i 14.1347251417346937904)=9.81007 -
1.8827738 i

sum_(n=1)219960 1/n~(0.5 + i 14.1347)=9.810559359 - 1.880355 I
sum_(n=1)~29000 1/n~(0.5 + i 14.1347)=8.2696693 + 8.751341 i
sum_(n=1)~39000 1/n~(0.5 + 14.1347 i)=-13.587942799 +
3.214242917 |

sum_(n=1)749000 1/n~(0.5 + 14.1347 i)=14.87108966 - 4.8790165 i
sum_(n=1)A59000 1/n~(0.5 + 14.1347 i)=-16.8331588 -
3.404215524038 i

sum_(n=1)2960 1/n~(0.5 + 21.022 i)= -0.1791783506394 +
1.46289992 i

sum_(n=1)29000 1/n~(0.5 + 21.022 i)=0.92865011317 - 4.41509626 i
sum_(n=1)~10000 1/n~(0.5 + 21.022 i)= -4.309478891 + 2.011205 i
sum_(n=1)"~19000 1/n~(0.5 + 21.022 i)=-1.353386+ 6.41392288 i
sum_(n=1)"~20000 1/n~(0.5 + 21.022 i)= 5.141799133223 +
4.3351548258 i

sum_(n=1)A29000 1/n~(0.5 + 21.022 i)= 5.482377543 - 5.960709322 i
sum_(n=1)"~30000 1/n~(0.5 + 21.022 i)= 0.254964134138568 -
8.2330654 i

sum_(n=1)~39000 1/n~(0.5 + 21.022 i)=6.7292629 - 6.551265 i
sum_(n=1)~40000 1/n~(0.5 + 21.022 i)= 2.50556618693 - 9.1752959 |
sum_(n=1)~49000 1/n~(0.5 + 21.022 i)=7.96403371 + 6.884077 i
sum_(n=1)A50000 1/n~(0.5 + 21.022 i)= 10.195572543 + 3.0213407 |
sum_(n=1)"~59000 1/n~(0.5 + 21.022 i)=-11.53703776282 +
0.57407167486 i

sum_(n=1)A60000 1/n~(0.5 + 21.022 i)= -10.71541936 + 4.568782 i
sum_(n=1)269000 1/n~(0.5 + 21.022 i)=12.24414975344 -
2.4756617791 |

sum_(n=1)A70000 1/n~(0.5 + 21.022 i)= 11.0298955836 -
6.054039736358 i

sum_(n=1)~{960} 1/n~(0.5 + I 25.01085)= 1.047016... -0.662357... i
sum_(n=1)~{960} 1/n~(0.5 - I 25.01085)= 1.047016... + 0.662357... |
sum_(n=1)29960 1/n~(0.5 + I 25.01085)= -3.22926 - 2.3427 |
sum_(n=1)29960 1/n~(0.5 - I 25.01085) = -3.22926 +2.3427 |



sum_(n=1)"19960 1/n~(0.5 + I 25.01085)=2.8093359 - 4.8994 i
sum_(n=1)"19960 1/n~(0.5 -1 25.01085)= 2.8093359 + 4.8994 i
sum_(n=1)"29960 1/n~(0.5 + I 25.01085)= 1.4566464 + 6.76418 i
sum_(n=1)"29960 1/n~(0.5 -1 25.01085)= 1.4566464 + 6.76418 i
sum_(n=1)"39960 1/n~(0.5 + I 25.01085)= 7.235095 + 3.39252 i
sum_(n=1)"39960 1/n~(0.5 -1 25.01085)= 7.235095 - 3.39252 i
sum_(n=1)"49960 1/n~(0.5 + I 25.01085)= 3.76619 + 8.10254 i
sum_(n=1)"49960 1/n~(0.5 -1 25.01085)= 3.76619 - 8.10254 i
sum_(n=1)"59960 1/n~(0.5 + 1 25.01085)= -9.390834 + 2.761776 i
sum_(n=1)"59960 1/n~(0.5 -1 25.01085)= -9.390834 - 2.761776 i
sum_(n=1)769960 1/n~(0.5 + I 25.01085)= 5.6929367 - 8.90986585 i
sum_(n=1)769960 1/n~(0.5 -1 25.01085)= 5.6929367 + 8.90986585 i
sum_(n=1)"79960 1/n~(0.5 + I 25.01085)= unable calculate??
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postscript

The cold when I found the first one is still continuing now and this may be
my last post. I may have discovered another by surging my energy and it
may not be counter example.

It may be written as a will.

I am writing this at the limit of power.

I write this with spitting blood.

I will post it in a hurry, as long as I have not done it before I die.

A~~~
I am a psychiatrist now and also a doctor of brain surgery before.



(home)
T 854-0067

47-8 kuyamadai, Isahaya City, Nagasaki Prefecture, Japan



mmm82889@yahoo.co.jp
I would like to receive an email. I will not answer the phone.

Currently 57 years old
Born on November 26, 1961

(I am very poor of English. Almost all document are google-
translation.)
When converted to English by Google translation, it becomes
cryptic to me.
But, I read letter by google translation.
In my case, if you translate it into English by google translation, I
do not know what is written in my paper. For me, foreign
languages such as English (actually not good at Japanese) is a
demon.
As soo
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